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Questmn Paper Specific Instructions

Please read each of the following instructions carefully before attermpting questions :

There are EIGHT questwns dwzded in TWO SECTIONS and prmted both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questwns in all

Questions no. 1 and 5 are compulsory and out of the remmtng THREE are tﬂ be attempted
choosing at least ONE from each’ section.

The number of marks carried by a question [ part is indicated agcunst L,
Answers must be written in the medium authorized in the Admission Certificate whz.ch must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space pmu.-.ded No

marks will be given for answers written in a medium other than the author:.zed one.
Word limit in questions, wherever speczﬁed should be adhered to.

Graph /illustrations, wherever requ:.red may be drawn/gwen in the space prouzded for answenng |

the question itself.

Attempts of questions shall be counted in chronological order Unless struck off, attempt c-f a

question shall be counted even if attempted partly. Any page or portion of the page left blank in the

Question-cum-Answer Booklet must be clearly struck off.
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Q2.

TTE A
SECTION A
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Answer the followmg in about 150 words each : 10%5=50

(a)

b)

{c)

(d)

(e)

(a)

- (b)

Hﬁwm%wmﬁﬂq wﬂaﬁtm(ﬂﬁ)aﬁmﬁﬁﬁ%a‘lﬁwacﬂ
wdteqor hifse |

Examine the relationship between own and cross price elasticities for a

compensatled demand function. - | o . | 10 |
w57 o 1 ¥R = e B _ .
-~ Explain H-theory of money supply. | 10

arferaeen H, Wﬁrmﬁaﬁq@%@ Wﬁt?ﬁ%ﬁ%ﬂm

r'ﬁ*ﬂﬁﬁvﬂlt%ﬂﬂ?ﬂﬁl

Differentiate belween the complete, partial and zero crowding out effect
of a given increase in government expenditure in an economy. 10

IR T O ¥ oo o o=l @ Sy aed ¥ waT R 2

H%ﬂﬂfaﬁmwﬁﬁwﬁuﬂmaﬁﬁqmmoﬁﬂﬂﬁaﬁaﬁﬁﬁ

"'aﬂtaams‘il

What do you mean by existence and uniqueness of equilibrium in a
market ? Examine these concepts in a market where both demand and

supply curves are downward sloping. . ' 10
forwrand & fatama =t s S | | . o
Explain the paradox of thrift. | 2 C 10

qﬁﬁﬂﬂﬂﬁ?{ﬂ%ﬁﬁﬁl‘rﬁ QIR & Hohedld (chlelclq) Higel ot ==t
Sifere tmmqﬁaf&umwu@nf%%umaﬂtﬁaﬁﬁaﬁﬁm
frft =t 2 _ |

Discuss the cobweb model of dynamlc ethbrmm with lagged
adjustment. Explain how the existence of a stable equﬂlbnum depends

on the nature of the demand and supply curves. . - 20

Wﬁm%%m@aw@%ﬁmﬁmﬁm%ﬁ
gz foegpel f wewapl W@ @ 17 e Hneiaﬁamaqgcrrﬁ = W
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“Monetarists are of the view that only money matters and Keynesians
believe that money does not matter at all.” What is the reasoning. behind

these extreme views held by their protagonists ? .20
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Qs.

-~ (c)

'mmﬁ%wﬁmﬁwm%?aﬁuﬂtﬂuﬁm%mﬂqmﬁmﬁ

8 YHR T 9N F WEEE 3 g6d B Ian g 2

What do you understand by shifting of a tsx ? How does a monopolist
succeed in shiﬂ;ing the burden of a taﬁx under increasing marginal cost ? ?

10

20

20

- 10

20
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(a) - aﬂ%@’r%que mﬁ@mﬁ%mmﬁmaﬁtma
ey & fufon # wgfaa afindd g awemsg | ‘

- Explain with approprlete assumptlens the determmatlen ef equilibrium
income and interest rate in a Keynesmn model of geods and meney
markets through diagrams..

(b) %@ﬁwﬂmdeqyl%mmwmﬁﬁm IFEI'IIﬁ e i
AR h wgit w1 R fomm T fhar a1 gehar g 7
| Examine the process of reaching the Ricardian Steady state. How can
the tendency towards steady state be countered 7
@ “aR serd e waﬁmﬁﬁt@%ﬁf%mmwm
mfe® &, ?ﬁTﬂ‘H (<) aﬁmﬁwmm%ﬁw aetsaitam
& 17 e i |-
“The conyentionial analysis of profit’ maximisation breaks dewn if the
_entrepreneur sells his output and possesses a productlen function which
is homogenous of degree one.” Explain.
Q4. (@ wwﬁww%mg&maﬁm lam%%zaﬂiéﬁz‘cmﬁ%m
YA W g1 R W WG S8 ? -
Compare the deposit multiplier with money multiplier. Is there any
impact on money multiplier arising out  of massive use ef credit and .
| debit cards ?
(b) - T T ﬁwmmﬁﬁﬂﬁﬁmﬂﬁ%ﬁﬁﬁﬂ%ﬁa
gt I | | |
Compare the various mstruments ef monetary pehcy with respect
influencing the cost and availability of credit.
() Tomom fonem 6 g fenra (qeew) ?, wos=t g 1
| Discuss the classical dichotomy that money is neutral.
C-DRN-N-GDPA | | 3
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Q5. ﬁfﬂ%{ﬁe& T @ UAF I AR 150 9531 1 Eﬂﬁm
| Avigwer the fellowmg in about 150 words each :

Qs.

(aj_
(b)

(c)

(d)

(e)

(a)

Eug B
SECTIONB

‘SRE TF@I BT A Tl G ? ﬁeﬁﬂg%w iq i IFH Hi I8

-Fﬁlmwm%?

What is meant by ‘factor abundance’ ? How does it, effeet the shepe of
the production frontier of a netmn 7

I SYGh I, AU F G T Dl FIH e a1 At ﬁi—-ﬂmwr_

 the parlicipating countries.” Explain.

a Tawar & = qui%‘?mﬁll

Can Kuznétss hypothesis of - inverted- U curve be extended to
envuenmental degradatlen ? Explem

maﬁ:gmaﬁ-mmeaﬁﬁ T b aﬁaﬂeﬂﬁmweﬂeﬁ%?

What do you understand by a small open economy in the centext of both
geode and money markets ? -

_mﬁmmqﬁaﬁmﬁﬁ maﬁ%edaﬁ%ﬁsﬁméaﬂ (PPP) ST #,
gt fidl ) gen & fou, Hifds Tl W YEmE S |

Point out the critical clements in typical Pubhc-Private—Partnership_
(PPP) agreements in the infrastructure prejects to safeguard the
interests of the public..

frel =2 3 g, O ST W, wﬁma&ﬁﬂ%wﬁaﬁﬁayﬂm%-

i gremaen ywmE o1 favervor i 1

Analyse the partial equilibrium effects of a tariff unposed by a large
country on its imports in terms of consumers’ surplus.

10x5=50

10

10

10

10

10

ﬁgqaﬂawmﬂamfaﬂé;aadmmwsrﬁ%m =R gig wH,

1fereh Heted wﬁfawqf‘gﬁ%?ﬁﬁﬁaﬁtéﬁmaﬁaﬁﬁ%aﬁﬁ BICNESD
=UR FR (RTAs), wﬁar{%(sﬁﬁ wﬁmﬁmmﬁ%mﬁwmm

217w i |

“With the Doha Round of multilateral trade talks stalled, regwnal trade
agreements (RTAs) have emerged as an alternative approach to increase
trade, spur stronger economic growth and lower unemployment rates in
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(b)

(c)

‘ﬁ%mé:mé;mﬁ ﬁmﬁaﬁammﬁ%m 9 Fa0l PR
maﬁaﬁnm%iﬁmmm% ” a% AR % =0 T8 T
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“Balanced growth strategy of devélopment in terms of ‘pattern of
investment has to be in conformty not only with derived demands but
final demands as well.” Argue whether thIS statement is about avoiding
bottlenecks- for- certain sectors and excess capamtles in others or

. promoting import substitution. | . 20

a‘s’a’mﬁmﬁqﬁﬁmﬁq gaqmamﬁ;nm@lﬁ 'c?rtle’i%fﬁﬁ‘ff
fefieftentor v @ mmeﬁﬁm%aéﬁﬁ Waﬂtq\% é;%qm'eﬁ'srﬁr
w@mﬁﬁﬂqw%

- @ L,
W (FPmymmEa 06 03

m(w)/mna 04 - 02

CHl s—rdruﬁé:ﬁmwmwrﬁmwa‘é’ﬂ ?Hﬁﬁl,ﬂ’fwm

-%wﬁﬁﬁw@@mmqﬁl

Explain the conditions under whch complete _épegia]ié_aﬁpn will be

" possible for two nations in case of comparafive adv'antage Su'ppose

productlmty per unit of labour for two nations, Incha and UK, 1S glven as
under : ' ' '

‘India- ‘UK
Wheat (kg)/manhour 06 ‘_03
| 'Clﬂth (yard)/manhour . 04 02

Will mutually beneficial trade be possﬂ)le for the two nations ?'If yes,

explain whether specialisation shall be complete ornmot. = . 10
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Q1.

Qs.

(a)

(b)

(c)

(a)

(b)

(c)

aﬁnw%%m@ﬁmﬁﬁmam,ﬁ,%ﬁsﬂ@m%g'

g o e g W i @ v 7 A § 2w see T o ) T el
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Why is it that in a pure flexible exchange rate system, foreign exchange
market has no direct effects on the monetary base and money supply ?

Does this mean that the foreign exchange market has no effect on the

monetary policy 7

SR <6 T 3 Bow wal % 99 fate hifv | awse 6 o
sferaeen 1 e i Mt sy st s dafy % w few dm
JF gea WA | T o -
Distinguish between single and double factor terms of trade. Explain
how far terms of trade of a developing économy would change with

~ technological advancement and economic growth.

20

20

it T IR @) et ‘otft wAd i ‘ahe’ w9 & w9 A
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- Our develcip_ﬁlent s‘tréte_gy has been proposed in terms of ‘faster’, ‘more
inclusive’ and ‘sustainable’ growth. Do the three components sit together

well ? Argue for your-answer.

s R g (HDD) % Ftor % fre 2@ . (UNDP) g0 s

10

fpr o T fafi g @ oo i | @0 e @ T Afag, o aRee

ﬁ,ﬁﬁﬁmmmuﬁaﬁsmmﬁrwgm‘m%?

Describe the different indicators that are used by UNDP to construct the

HumanDéve]opment Index (HDI). Why is a logarithmic transfbrmation
applied only to per capita income in the calculation of HDI ?

“agfia i 24 G e % s, e o e e = 8, fra
sierchr ot T D S A g ww A e w47 == AR

“Apart from bringing capital into a country, multinational corporatio:isl
“provide many other advantages that cannot be obtained by borrowing

from international capital market.” Discuss. o |
Riva IR GE (WTO) ¥ samm wwfa o 3Tdl (TRIMs) ® #7
£ | 5% Ty § LA YgE TRREE T W R

20

20

‘Explain  the Trade Related Investment Measures (TRIMs) of World

Trade Organisation (WTO). What are the major debates relatingtoit? 10 -

" C-DRN-N-GDPA .6

prepp

Your Personal Exams Guide


https://prepp.in/

